         Опрацювати параграф 20. №798, №805, №815, №821, №825.
Переглянути відео:   https://youtu.be/pdvIUZiW-JI       
      Розгадай слово 
1) 5x=15                                             
2) 5x=1,5                                             
3) 5+x=25-3x                                             
4)    =                                         
5) [bookmark: _GoBack]5(x-5)-(x+5)=10                                               [image: ]
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                   Розгадай слово 
1) 6x=12                                             
2) 6x=1,2                                             
3) 6+x=12-5x                                             
4)    =                                         
5) 2(x-6)-(x+6)=12                                               [image: ]
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             Розгадай слово 
1) 3x=15x                                             
2) 3x=1,5x                                             
3) 3+x=15-5x                                             
4)    =                                         
5) 3(5-x)-(x+5)=10                                               [image: ]
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             Розгадай слово 
1) 2x=18                                             
2) 2x=1,8                                             
3) 2+x=18-3x                                             
4)    =                                         
5) 4(2-x)-(x+2)=16                                              [image: ]
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            Розгадай слово 
1) 7x=21                                             
2) 7x=2,1                                             
3) 7+x=21-6x                                             
4)    =                                         
5) 7(x-3)-(x+3)=24                                               [image: ]
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